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A01 Al12 12
1 100 mg

NaCl CdSO4 Pb(NO3)2 Ba(OH)z Na28203
BaCl, FeSO, KI NaHCO; NH4SCN

1 2

2

14 12 12
5

0.1 M AgNO3 3% HzOz 0.1 M NaZS

1 M HCI 0.01%
1. 20 mg
2. 5

1

2

1mL
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KI

NaCl

Pb(NO;),

Ba(OH),

BaCl,

FeSO,

CdSo,

Na,S,0,

NH,SCN

NaHCO,




1)

@)

®)

X01 X12

0.6

0.1



NaCl AgNO; KI
HCl Pb(NO;), BaCl,
H,SO, Na,CO, NaOH
29-1 H,S0,
29-2

H,SO,



an

X0l X10

0.1 mol/L
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Cd(NO,),

KI

Na,S,0,

NaCl

Na,S

Pb(NO,),

HCl

H,SO0,

NaOH

Zn(NO;),




C (H,CeHgOg, FW = 176.12)
C
30%
60% 10%
NaOH
( ) 10 mL x 1
100 mL X 1
(Na,S;03)
( )
(0.01 M) 250 mL X 2
125 mL X 4
250 mL X 2
X 10
x 10
1
( )
x1
, 100 mL X1
x1
X 1
(20 mL) /
1
( ) x6
x 1




C 100 mL

1-1 10 mL

2-1

2_1_1 20mL Na.28203

2-1-2 3

2-2

2-2-1 C 10 mL

2-2-2 3



31-1

31-2

31-2-1

31-2-2

31-1

31-2 1, Na,SO0,

31-3

H,CeHeOs  +

31-4

C mL NaOH

C . m NaOH

C mL NaOH
mL Na,S,0,
mL Na,S,0,
mL Na,S,0,

C . mL

C _m

C mL

280, + 1, - S0, + 2I
1,

I, > CHOs + 21 + 2H

10

mL

mL

mL

mL

mL

mL

mL

mL

mL



aA + bB <> cC + dD

Keg  ([Cleg"[P]

e) 7/ ([A] °[B] &?) Keg
Keq
Fe(NO;);  KSCN Keq Fe(NO,)
KSCN 20mL 0.1M 3
3.214%x10°M
1.360x 10° M 1.375% 10 M
Fe(NO;);  KSCN Keq
Fe(NO3); | KSCN | Fe(NOs); | KSCN Keg
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20
x 1
x 4
x 4
x 2
x 1
15 cm x
100 mL
250 mL
500 mL
10
25
25
100
5
1

32-1

32-2

32-3

x 2

x 2

x 2
mL
mL
mL
mL
mL
mL

x 1
x 1
x 2
x 4
x 2
x 2
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H+
HOCgH,COOH + (CH3CO),0 -  CH3;COOCgH,COOH + CH3COOH

125 mL 359 3.5 mL 1.08 g/mL
5 5
15 mL
125 mL 8 mL
33-1
33-2
33-3

33-4
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34:

(CHACOOH) (HOC¢H,COOH)

CH.COOC,H,COOH + 2NaOH — CH,CO0 Na + HOC,H,COONa + H,0

NaOH H,S0,
H,S0,
( 6.8-8.4) ( 8.3-10.0)
1.5¢
150 mL NaOH 25mL
10
250 mL
25 mL
0.05 M H,S0,
1 M NaOH 0.1M
25 mL 0.05 M H,S0,
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34-1

34-2

34-3

34-4

34-5  NaOH

34-6 NaOH

34-7 NaOH

NaOH

34-8

34-9

34-10
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#)-a-

a_
(R,R)-(+)
(R,R)-(+)-
RRR
(S)-(-)-a
Me
oy
R -
(R)-(+)-o- o
> + HO——H
< COOH
©/\NH2
_
(S)-(-)-o- (R,R)-(+)-
250 mL (R,R)-(+)-

(R,R)-(+)-
SRR

RRR-

7.8 g, 52.0 mmol

6.25 g, 51.6 mmo

50 mL
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(S)'(')-a_

(R)-(+)-a-
SRR

<
[¢)

COQe

NHj3 H——OH
@ = HO——H
COOH

SRR-

125 mL
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4 mL

25 mL 50

10 mL
1049
50 mL
a_
(8)-(-)-a-
23 o
[a]lp =-40.3 (neat) neat:
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